'y
J-

| feon 98

<
~\

35

HORT, B3B8y = Lo +5075 ’ m

T ERmBERy=2cDF5T7, BRI n

ﬁyz—%wﬁ‘awmo 0 LS m - c

BAAT, BEREERIEEAB TEOTNR
boTW35, (lj\q_)
TOLE, ROM 1~ 3ICHEZRI L,
7L, B OMSE (1, 0) £ TOERERT
FEROMSM(0,1) ETOEMEZTNE N Lemm
b -

(1) A DEEERDEE, 5
(2) AOAB DEREERDEE W,

(&
(3) cEiEicEPRLD, AOAB:AﬁgBP}: 7z
B P Dz BIEETXTRDEEN,

(h —éa;(‘-hg - tryyit Bid

—Za= s PR

A gy 2 AT/S

= /4(36) -ca=/5
X723 T £="3 B(C3.%)

) Py ykar«2ZECLd e

A0AB=ACBOTALAD
. S am?
- 1;><3><'L"f5>(3y§[ :/5_. /

4 5 . - e (3.4)0A
\ftj/‘\zgi\)@ﬁngok *{{{73@;‘;&2«{6&;‘& = Jaw)oc (5.6)4F
6< —4+.b ) HL :j;~ fgf—x-rw ZlﬁkbngEO*FCVJSOC“

(s .
Oz -$xtlo pir 410 Lo A B U E B30T A3

13 A5 L5
A% FYRaT)

1 ¥  http://www.mathtext.info/



